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Halloween Word Search

Here's a spook-tacular task for your class!

What to do:
1) Print out the word searches and cut the page in two.
2) Your students have to first link the word to the image.

3) To then solve the puzzle, your students have to find all of the words in

“Language

the grid.

Answers: elalé|b|v|c|Alule|l|alule|y]]
» qll e|ll|(z|loim|b|i|x|f|l|g]|f
el murciélago = bat olalgldli|alolt|d|q|kle|f|e|d
el gato negro = black cat p/bliAlalp/ himig|i|é|t|l]|al]|k
la calabaza = pumpkin e|Flz|t|{®u|ifegh |uje|l | nm) c
el zombie = zombie sjujrihjijojsjvimptj)jtjtjus
oljlelj|lqlé|ln|]j|a|li|e|A|a|r|e
el esqueleto = skeleton &lalk|bla|l|ale|s|kla|]|s|c|b
la arafia = spider I[f{i[g|lI|m|d|s|g|r|o|q|m|i|m
el fantasma = ghOSt ale|l|é|s|r|l|alalr|la|A|a|é|e
. ilem(g|(f|t|e|[l|f|l|ofw|z|I|I

la momia = mummy -
h|l|clajmfom|i|d|qfu|g|f|la]|d
la brujo = witch nji|lalo(n|b|A|ld|c|d|éfz|i|g|e
e(l|je|s(q|jufe|[l|e(ft|ojalh|o|a
c|s|(b|l|la|jc|la|l|a|bja|z|a|c|hA




el murciélago

el murciélago

la calabaza

el gato negro

la calabaza

el gato negro

el esqueleto la arana

el zombi

el esqueleto la arana

el zombi

la momia

el fantasma

la bruja

la momia

el fantasma
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